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Note : Fou; choices A, B, C, D to each question are glven. Which choice is correct, fill that circle in front of that question number on the
Objective Bubble Sheet. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark In that question.

(A) Force 24  (B) NetForce Judey  (C) Coupled[_ (\(D omentum f’{ v

Least Count of Digital Vernier Calipers is : PR O ST GUICIN 1P 14dir
(A 0.lmm (B) 0.0imm () 0.00lmm (D) 1mm o
S}Umtofwelghn; ) B— ,_...%&!SI r.w’ ~
(A) Joule Jz (B) Meter < (O Kilogram rl/ ¥ (D) Newton /s

Product of Mass and Acceleration is : ; q...,a)d’ lvb’d?')’fwlu’ (A
(A) Inertia A%/1  (B) Torque %  (C) Forceusd (D) Momentum (‘“{ #”

Which quantity is a Scalar Quantity : el s @
(A) Time &3 (B) Force U4 () Torque St (D) Velocity Fh N

The Steering of a Car is example of : @ t e oLk (B

A 9% @ 78°c (© 100°%C (D) 90°C

Y di@@r‘?’f Srea 1P B e dtidipi] ©
Which one of the following converts Light Energy into Ele @ inergy
(A) Blectric Bulb wbt 29I (B) P n S
(C) Electric Generator /J (D) /1\31@ ell LS
&'he energy of a moving body during %alled : : ‘aalkv( G r) Fomlel7| D
(A) Kinetic Energy &/’l._@’d * -~ (B) Nuclear Energy - (5. ol
(C) Chemical Energy (%71 “ (D) Potential Energy J.jl,,}"f,g
b el b8 (Vo Dby deswr dnl S h) 3wt @)
The Formula to find the Orbital Speed (V) of a Low Orbit Satellite is
(A) Vo=gR (B Vo=gR (O Vo=ygRE () Ve=./gR
' P LI P Bt e TSt @
In which of the following State Molecules do not leave their position
(A) Solid v#  (B) Liquid & (O) Gasu? (D) Plasma Wik
Which Bird is Thermal Climber : e AWS Ay (10)
(A) Sparrow |2 (B) Eagle
(C) Pigeon >y (D) Crow 1§
Which of the following affects Evaporation : ; q.(}njwlf"l/'o&._: JsRsl R u” g P ul‘ “a1n
(A) Temperature =17 5. (B) Surface Area of the Liquid L/ #6204
(C) Wind!»n (D) Allof the above LIl
Boiling Point of Water is : P el Figly A2
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Note : Itis compulsory to attempt (5 -- 5) parts each from Q.No.2 , Q.No.3 and Q.No.4 and Attempt any (02) questions from *

Part Il. Write same Question No. and its Part No. as given in the Question Paper.
30 = 2x15 | Make diagram where necessary. L P s o (Part-D  J3lae>

Session (2022-24) & (2023-25) | Group 1wy | Y /-0 589 P R 9 | @

Why do we need to measure extremely small Intervals of Time? ‘.‘c‘-a},u::.( = /‘J 2rt:(u:‘." s J:G JL?'I L (i)
Define Prefixes and give an example. el nEEy G TP (1))
Define Plasma Physics and Geo Physics. ,é ey S u/ P u’( VST (1))
Differentiate between Sliding Friction and Rolling Friction. O \f“ Ptis s P Fw (iv)
How much Force you need to prevent a Bag from Falling? S Js O:( v .1743— LL[{.;J_/ S Ll (V)
Write two advantages of Friction which you observed. oplel TS @009 5 L7 (vi)
Differentiate between Natural Satellite and Artificial Satellite. -é uw} ISR i R ROV g 81,5 (vii)
State Law of Gravitation. w58 LS (vili)
Define Uniform Speed. : S dwemey (i)
Differentiate between Distance and Displacement. _ﬂ J)u.‘:_r,/.:ﬁ il Ll (i)
Convert 200 km h'? into ms™, &)wss ms? 200 km b (iii)
Define Pressure and write its S.X. Unit. _eluy S, ey g Az (iv)

Differentiate between Ships and Submarines. g sl US4 (V)
S et b2 4 as AR e reit By €A (V)

Why does a Piece of Stone sink in water but a ship with a huge weight f@é&

Define Convection. @% -éf:(...,i! /‘.'. g uﬁ{ & (vii)

What is Global Warming? %5 ?;(.Jny’ Lty JF (viii)

What s Couple? ; @ e K (i)

Define Center of Gravity. @ sy R T (1))

1 Equilibrium. -u:‘” GAt ARSI 2l (i
g g S s (V)

Ssree§ GaSEy (V)
A fEdz (i)

Differentiate between Stable Equilibrium
Define Power and write its Unit.
Derive the Equation of Potenti

Define “Joule” as Unit of Work.

Define Latent Heat of Fusion. nyey Stz F sk (vii)
Define “Evaporation.” ~J."'cr 3PS g (viii)
18 = 2x9 (Part - II) pgs4a>

(4) L e YUV S Bhablad L& Speui ¥ el Sk LGS g (W)

Derive the Equation for Mass of Earth from Newton’s Law of Gravitation and hence calculate the value of Mass of

Earth.
(5) _.,-g&’:fut_/ué//__andﬁ,éan}f&f)uymﬁw&"uL o SWESILAPSEE ()

_41:.0-6 ‘far AT
How much is the Force of Friction between a Wooden block of mass SKQ and the Horizontal Marble Floor?

The Coefficient of Friction between Wood and Marble is 0.6.

(4) Provethat : Upthrustof liquid = p g V Ul = p gV Sy fek (W)
(5) (int100s (/& Joik 2 F LUt 100s AL R My a3/ ookl ()
"W der
A Train starts from Rest. It moves through 1K in 1008 with Uniform Acceleration. What will be its speed
at the end of 1008 ?
(4) , ol Pl EASEI FEEAsE ()
Define Equilibrium and explain Second Condition for Equilibrium.
(5) g gl uis 20 ms™? 4§ K3 12 KN ()

A Car weighing 12 KN has speed of 20 ms. Find its Kinetic Energy.

2/ Jr
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Note : Folr choices A, B, C, D to each question are given. Which choice is correct, fill that circle in front of that question number on the
Objective Bubble Sheet. Use marker or pen to fill the circles. Cutting or filling two or more circles will result In zero mark in that question.

Which of the following is the Unit of Momentum : : ‘glJf <Ly (I;“.{ e St

14y

False Ceiling is done to : v b e b L bl
(A) Lower the height of the Ceiling b f’ Jlfﬂ Sers (B) Keep theroofclean (¥ ils # g’

(C) Cool the room b/ 144 f ¢ f° (D) Insulate the Ceiling £/l f e

A) Nm ® Kgms? (© Ns (D) Ns? 0
i ctnfoed S s f et s L 2SR @
By dividing Displacement of a Moving Body with Time, we obtain :
(A) Speed 4r (B) Acceleration u‘%/u:! (C) Velocity §"¥s (D) Displacement .‘J{’*ﬁu’f
Amoun:c of a Substance in Terms of Numbers is measuredin : ey KL/ r)b‘ oy J P ) u.‘.'i.u/ &)
(&) Gram 1/ (B) Kilogram ¢1./¥  (C) Newtoncf¥ (D) Mole s
Coefficient of Friction is : HIP f‘( /.:T.*/.:’d_’ | @
W p= ®  pep © p=f © p=h
s Sn b ¢ B ESA B P LLASE 2| ®
The Kinetic Energy of abody of Mass 2 kg is 25 J, its speedis : < %%
A s5mst B 12.5mst (©)  25ms™t A % 50 ms™ )
Ui € V ~ 100kg 4 Sg-¢ 1:6ms™ i g0 dse ®
The value of ‘g’ on Moon Surface is 1.6 ms™2, What'will be the Weight of a 100 kg body on the Surface of
Moon @ ©
(A) 100N (B) 160N 1000N (D)  1600N
The number of Perpendicular C%F;nents ofaForceis : - 4"_8;1 )LJJ ‘f": ;f/ Sasf Lz /'."/: U} €]
@ 1 ® 2 © 3 O 4
The Energy Stored in Dam is : 3 4.&:1 GH ol :ufdg ZE @
(A) Electrical Energy d.f'hﬁ. /“;’l (B) Potential Energy d./'lc)ﬁ:‘{
(C) Kinetic Energy (5’.}!.._@6( (D) NuclearEnergy Gl A%
e § o e rvie i tad X US| @
Which of the following Material has Large Specific Heat :
(A) Copper 4§ (B) Ice Iz (C) Mercury §Sr (D) Water d,l;
Normal Human Body Temperature is : D e ;’ K()‘ JUI Jaul (10)
@ 15% ® 713% © 37°%F ® 37°%
SI Unit of Pressure is Pascal , which is equal to : : g.b'n/.lf.f Lol J/’ (4 ¥ 2400 Jg Vil (‘/ ab
@ 10*Nm? @ 10Nm2  (© INm? (D) 10% Nm”
12)
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Note : it is compulsory to attempt (5 -- 5) parts each from Q.No.2 , Q.No.3 and Q.No.4 and Attempt any (02) questions from ‘{
Part Il, Write same Question No. and its Part No. as given in the Question Paper.
30 = 2x15 | Make diagram where necessary. S P s oz (Part-D Jilea>
Why do we Study Physics? S‘u}"d’_‘/‘,u[ s (f/ /’f" iy 2 /" Jiy
Describe Zero Error and Zero Correction. “ZEulk I J‘{ S s ag s (i)
Define Significant Figure and write its one example. _u:‘."v Jefi sty e s (iii)
Differentiate between Mass and Weight. e nl gn b (iv)
Define Momentum and write its SI Unit. L Sy SLEUI 23:..4{ 7 d r:“f y (V)

b I g Pt /S A S 20N LOALENAPSE 8 (vi)
Find the Acceleration that is produced by a 20N Force in a Mass of -8 kg.

What is a Field Force? tednd W (vii)

What is meant by “GPS”? S pfc "GPS” (viii)

Convert 20ms L into Kmh™., Zhst Kmhty20ms™ (i) 34Ur
Write Second and Third Equation of Motion. -u'.'."j bl s G n bty (i)

e U e Bnud § P e rSudedst it i JEs U (i)
How do Riders in a Ferris Wheel possess Translatory Motion but not Rotatory Motion?
Does there exist a Fourth State of Matter? What is that? (P 1 ufu ("_d(gé.l;:)bo; gdob (iv)
Define Young's Modulus and write its SI Unit. @‘Q_ SIsUix é._y /7 J uJ i K (v)
What is meant by Up Thrust? O% Sl e S (vi)
Write two uses of Insulators in our Daily Life. @ 2 L ﬂr‘lgﬂd’ siopiss (Vi)
What Causes a Glider to remain in Air? @%5 Se W orbi i imL 28 (viii) i
@ sl Suddek s (1) 44U
O , s 2ol £Ask (i)
Y NV FP N (1)
e tx u:d)r&"f SG1S D 7 L (D) A g (iv)
Write the name of four such Devices that convert Electrical Energy into Mechanical Energy.
Why do we need Energy? ?q.anu;.f wnflBAL (V)
-ér:‘" K.E JJ!;,Q@;_{J@J/‘;!;G’U:J 15mst /%L 500g (vi)

Why we use a Spanner?

State the two Conditions of Equilibrium.
Define Head to Tail Rule.

T

A 500 g Stoneis thrown up with a Velocity of 15mst Findits K.E.

How does Heating Affect on the Motion of Gas Molecules? S by IS itz /,,J e :;g Lﬁu{ u’r (vii)
Define Cubical or Volume Expansion and also write its Equation. ol E anldie St f g Lds (viii)
18 = 2x9 (Part - IT) pgada>
(4) Calculate Mass of the Earth by using Law of Gravitation. -’:f.{(}”u’ VK hitnl S db-"‘ld!l?(u“‘; 2/ () |5 iy
(5) e menpSudF L Ll g bre L 2ms 2120 Nunk Pl (9)
A body has weight 20 N. How much Force is required to move it Vertically upward with an Acceleration of
2ms??

3

(4) -2’:;.3! Ve=Vj+at &"PJJ]&)A JJ‘/JI »! é—hdlffe—iyé.éﬁé.ﬁf_/af/c, ﬁ)’{l (A2 () 6-/Jy
Draw Speed-Time Graph for a body moving with Uniform Acceleration and from this Graph Derive the

Equation of Motion V§= Vij+at.

(5) e pnd e gi§ 20N I/ 41410 mm LIS e 18 Al (@)

The Head of a Pin is a Square of Side 10 MM, Find the Pressure on it due toa Force of 20 N.
(4) Define Kinetic Energy and Prove that : K.E.= % mv® s S Bl Z-':_.gl/."d’&/l.,@é( (a0 7y
(5) LSS st Lt € 30° AL —xudS 50N (o)

; Find the Perpendicular Components ofa Force of 50 N making an Angle of 300 with X — AXis.
--------- Feetetedemnmmmmme
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Note : Four possible cholces A,B,C,D to each question are given. Which choice Is correct, fill that circle in front of that question
number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question.

A body has Translatory Motion if it moves alonga: : 4;..?/@-(/ 7] /l Jx $ jtV ;/' Jr J (; J(
(A) Straight Line A (B) Circde 2ol
(C) Line without Rotation _Je# (D) Curved Path ¢ >1 o

1/
@)

A Measuring Cylinder is used to measure : : q.t‘igy?:““c_ Jl‘;‘”(;j A
(A) Mass UL (B) Area |/ (C) Volume (2ls (D) Level of Liquid ¥ ¢ dltuj

@

q ebd JT u,JrJ(;%'li‘CprV KB ey
Which Instrument is most suitable to measure the Internal Diameter of a Test Tube :

(A) Metre Rule 3L/ (B) Vernier Callipers J 4“’/.1: (C) Measuring Tap :54.? & (D) Screw Gauge C{‘;

@)

&tn Sl § Sy db é;i Lo S J Jg/ D194 £
Newton's First Law of Motion is valid only in the absence of
(A) Force s (B) Net Force Uod & (C) Friction gﬁ‘{ ) Momentum fl;"

@

The energy stored in coal is O@ Poe G s S
(A) Heat Energy Y l@tlc Energy &/l-@(}(
(C) Chemical Energy JHJS uclear Energy G

©)

g o
-fg@www Cht Ltie il edd g
The value of 'g' at a height o 's Radius above the surface of the Earth is :
(A) (B 1/2g (O 1/3g (D) 1/4g

(6)

N e " .
W{J’; Ko Seelle 2 K 30° AL /fu -xuf L § 10
A force of 10 N is making an angle of 30° with the Horizontal. Its Horizontal
Components will be : (A) 4N (B) 5N (¢ 7N (D) 8.7N

?)

Rate of doing work is called : gl ) z ' v/ J il
(A) Energy (/! (B) Torque 0t (C) Power 44 (D) Momentum (L’rr

@)

In Solids, Heat is transferred by : Ve 3K e S rV.U)"’
(A) Radiation ﬁldéz (B) Conduction u"( g (C) Convection u:‘gf (D) Absorption J"iulz'

)

e o Bletefey sl ot 1§/
Mercury is used as Thermometric Material because it has
(A) Uniform Thermal Expansion 544 azl/ub..( (B) Low Freezing Point ..‘Ji{.f{/f
(C) Small Heat Capacity AFd (D) All these 1

(10)

qy&nﬁmu}y § odd & &k Kk B
What should be the approximate length of a Glass Tube to construct a Water Barometer :
(A) 0.5m (B) 1m (C) 2.5m (D) 11 m

(11)

Water Freezes at : (A) 0 F° (B) 32F° (Q) -273 K (D) 0 K &blur oz ¢ £7U700

(12)

AN
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Note : It is compulsory to attenipt (5--5) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from Part II. Write same Question Number and its Part No. as given in the Question Paper.

30 = 2x15 Make Diagram where necessary. -J_"l'f.u"’ynduﬁul,z (Part |) J;LA’
Define Nuclear Physics. s S S 6 240
What is meant by Vernier Constant? ?+)l/l!;..«~"' A Tﬁ:"/) (ii)

Sencon ol Ul e UEE SRS i)

Why Digital Electronic Balance is more accurate than Beam Balance?

Define Kinematics. s J uuf.uau.\.a\f (iv)
What are Vectors ? Write its one example. ;.-e‘UvJJw ¥4 lf /-{,- {v)
Define Speed and Velocity. -ufv 27 8 G sl ke (vi)
Define Force and write its SI Unit also. -é.‘!d u’ Ly SLE sl é..e_’/" J JJ} (vii)
What is meant by Momentum ? Write its SI Unit. ..é:‘.’o wy SI 01 Sl < (”-’r (viii)
Define Work and its S.I. Unit. EEF S s s s (@) 34y
Write Law of Conservation of Energy. - ’496 Jt'?LB;u]G’ (ii)
Define the S.L Unit of the Power. oy S ey sLL (i)
What is meant by Gravitational Field ? "a:i & ﬂ-’ﬁdi)‘ (iv)
What is meant by Satellites ? ﬁ Lol e S (v)
What is meant by Centre of Gravity ? J/g = L{,l):)lf*‘ (vi)

Write two conditions of Equilibrium. o {& O 496 g7 s G EASET (vii)

State Law of Gravitation. % Syl Wb ¥ Sy S (i)

State the Principle of Floatation $@ By MK L ) 4y
Define Tensile Strain. Write its formula and units, u‘f J" ,;’ 21l U6 §1 _é .é!/? d’ U4 /‘J’H:' (ii)

The Mass of 5 Litre of Water is 5 Kg. Calculate fts Density. -25¢#* 5% Juie et s ULy 3t /5 (i)
OVl B sam b L § aFeds ()

ula and S.I. Units.

2§ wtrf § Pt nt o erE Sk (v)

Latent Heat of Vaporization.

Define Specific Heat Capacity. Write §

Define Latent Heat of Fusion

Differentiate between Conduction and Convection. -c:_lZJ) S u‘-‘{/ 231 uzf yid {vi)
How does the Heat reach us directly from a fire place? ?4‘_35;4/@/&0’/. J(? w17 (vii)

¢ e tbnud Aol p AU ¥ dL (Chilled) & (i)
Why does a Glass of Chilled Water becomes hot after sometime?

18=2x9 (Part ) (.o
@ =3+1 LB pE LSS é—’y/" § B s

Define Friction and also write three methods to reduce Friction.
5) Ju)/e_ndﬂﬁloo-c_d/lpbwﬁu( T4 42100 AL Jikcvr/ugy,,-c_d/cywc_du J s oLt M ()

A train starts from Rest. It moves through 1 Km in 100 seconds with Uniform Acceleration. "Jytkﬁw

What will be its speed at the end of 100 Seconds?
(4) Find Perpendicular Components Fx and Fy of any vector F. _ér}‘" Fy s Fx (f"){ St £ F ¢ ) 64U
) ¢ o de § IS et Gud 20ms T e utig 500 LA M (L)

A stone of Mass 500g strikes the ground with a velocity of 20 ms'1 . How much is the Kinetic

Energy of the stone at the time it strikes the ground?
(4) Write properties of Thermometric Liquid. -é;fU a_L_u‘;JéLLULﬂJP"U.‘.}{r/? () 740y
) B e S 8500 ¥  FLGALL TG 0 om x10em x5 em ()

A wooden block measuring 40 cm x 10cm x5cm has a mass 850 g. Find the Density of Wood.

--------- g g
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Maximum Marks : 12 Session (2020 - 2022 ) to (2022 - 2024 ) 12 : AF
@ Bupa~aq
-J:/cuﬂf VISP IAL 2 2riran SN G st g 363121 L4 D, C B, A 2B L vy 1 g3
P20 G e S SLS NN s Homs s
Note : Four possible choices A,B,C,D to each question are given. Which cholce Is correct , fill that circle in front of that question
number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark in that question.
200000ms™ 1 is equal to ° Doe b 4le 200000ms” 1 1)y
(A) 2Kms ! (B) 20Kms ' (C) 200Kms ! (D) 2000 Kms™ 1 (1)
Least Count of Screw Gauge is : - . &ib’.w:’-gf éz; 2
(A) 01 mm (B) 0:01 mm (C) 0:001 mm (D) 00001 mm
Vi - Vi isequalto: (A) a B s (O h D 2as : ¢ s M ;Vi 3)
Inertia Depends on : P e tn MY B ()
(A) Force (¢ (B) Velocity $Vs (C) Time &» (D) Mass 1
Mathematical Form of 2nd Condition of Equilibrium is : @& JG 2 J bAS J skl (5)
(A) ST =0 (B 5F=10 (O SP=20¢ iw
b wad P1¥ U9 UeeQlugsls ﬁ%@i’ yf: cxud LIS HE10 (6)
A Force of 10N is making an angle of 30° w1th ntal , its Horizontal
Component will be : (A) 5N 87N (D) 10N
Earths' Gravitational Force of attraction vax@§;t i e d@ 7 wjﬁdzf J i ()
(A) 6400 Km (B) Infinity \ Jelk#) (C) 42300 Km (D) 1000 Km
Potential Energy (P.E.) = w ! awme— = (P.E)) &/’U’% (8)
(A) (B) mv> (O) m’gh (D) mgh
Y 2q.cclggr:h’quLhUﬂ{E’ét{JM'h' 9
Liquid Pressure at depth'h' can be calculated by formula :
(A) P=pgh (B) P= Epﬁ (€ P= Togﬁ (D) P= %;g-
e S 7 Freu¥ 2y k) IHE | o)
S.I. Unit of Pressure is Pascal which is equal to :
@A) 10*Nm'2 B) 1Nm 2 (© 10°Nm 2 (D) 10°Nm?
The Specific Heat of Water is : Coe //gxl/ J dj’. (11)
(a) 2100 g 'K (B) 2500 JKg™T KT () 3000 JKg T KT (D) 4200 JKgTTKC]
Rate of Flow of Heat is : . Z/;' J Ll ez (12)
@ oxt ® oxt © 2 o &

H
N
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el 1 e dde e SN2 L7 (5-8)C s e 28 Adv 43 Al ¢ 2 Ao § =l d
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Note : It is compulsory to attempt (5-5) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from Part II. Write same Question Number and its Part No. as given in the Question Paper.

30 = 2x15 Make Diagram where necessary. -u:'&x&wkduﬁulg (Part 1) Jslo
Estimate your age in Seconds. Sl SR i K A @) 2 ﬁ‘Uir
Define Nuclear Physics. -é-—!!/T g S (i)
Write the following quantities in Standard Form : ~&E R Sk S U Siossr (i)
380000 Km (i) 6400 Km (i)
Differentiate between Linear Motion and Random Motion. -’{;u_t,aJ) 9 cf‘rp‘v:,/ e g2 (iv)
Define Velocity and write its S.I Unit. Y ey SLE a2yl S (v
Define Centripetal Force and write its formula. _é‘,’d U6 K1l 2‘!_;3;7 J w}d‘id/"ef (vi)
Differentiate between Action and Reaction. g fij} S P S (vii)
Write two advantages of .Friction. -é __//7 Ry ¢f‘5‘ (viii)
What is meant by Centre of Mass? e 0 K ST () 3,4 )
When a Couple is formed ? e g J{ L (i)
How the Mass of Earth can be determined ? Ce (L b LA UK o2 i)
Why does the value of 'g' vary from place to place? ‘-'c‘-(jl.m a7 e Lond J ‘g (iv)
What is the value of 'g' on Moon ? @ 9 Vs g 'B'¢ Ll (V)
Why do we need Energy ? O e ud & g (i)
What is meant by Efficiency of a System? O(&% ?“-_J'/Lf & u"‘"(fl J (‘J i3 ] (vii)
Define the Joule. @% -é_yf." J Jz (viii)
What is meant by Plasma ? %5 el « Ltk (i) 44U
State Archimedes Principle. @ ZYk ¥ Ja (i)
Define Elasticity. @ S8 o
Define Evaporation. ' -'46 > i L‘ﬂ/—'ﬁ{" (iv)
Write two properties of Thermo Liquid. -2,‘36 el 0§ S i a2 Ky Z ()
Write use of Convection C -é:.‘%b"‘"f ¥ u"‘/gf‘{r( {vi)
Define Conduction. @i § H i
Why metals are good conductors of Heat? ‘.'u__fu:..f }(JJ/J:' etz L (viii)
18=2x9 (Part IL) rne

@ =3+ el fueJid 1WF £ et Ul 0l Bl 06 ¥ P L A () 540y
State Law of Conservation of Momentum and explain it with the example of Collision
of two bodies of spherical shapes.

5) e Lo S e At FUGEE 3510 Sy § 36 Kmh "l g2 oL ()
A train moves with a uniform velocity of 36 Kmh'1 for 10 seconds . Find the distance

travelled by train.

(4) State and explain the Law of Gravitation. L el wih £ ‘f?d{/ () 64
) et oy § e R ALAS bm U2 105 B 200Kg o LT (L)

Calculate the power of a pump which can lift 200 Kg of water fhrough a height of

6m in 10 seconds.
(4) Explain the Volumetric Thermal Expansion. ool § S A r:!l: () 740
(5) -éfﬁ’ JLE In )ﬁrufé./éc}jg 8m x 5m x4m-¢ 1 -3l(gm'3 ¢H G (<)

The Density of Air is 143 Kgm-s. Find the Mass of Air in a room measuring

8m x 5m x 4m
e e e A AS ﬁ*‘,"‘""."f". . _g
2.2 —~02 — 2ol




Physics b | . L.K.No.15 Paper Code No. s et
Paper - | {Objective Typo ) © 8SCA-2022 NPy G Y 3¢
. Time Atlowed @ 15 ininutes $SC | Part - 1) | "'""_15 .f’.”
Maximum Marks @ 12 : Sessio‘n(ZOZO ZOZZ)to (2021 - 2023) 7. AP

: ) . BwPQ[ S

e BT 36 Tk [—-._—-"-/ c.—.fs.n/Jic.:cllréb’r//qb’dir.‘u'éc—)D c,8, Au}'!.f/h-l:dl// HIRTY
.-f)hy"b“ "’/’jL;\dJ"beA/MKL‘—/ fu:/bnlua...f

are given Which choice is correct, fill ihat clrcle infront of that question

]
]
¥
1 2 )
: Note  Four possible choices &, B . C [ to each quesuon
: zero mark in that question.
i

number.-Use marker or pento fill the cucles. Cutting or filling two or more circles will result in

Identify the Base Quantity ‘ . Z:UV JJ'AVdJV I/J'Y

P Distance 6 (D) TLorce ¢ (C) Aréa 4 (B) Speed 4.,-* (A) * (1)
States of Equilibriurﬁ are | ' J d)’ UJ" l! ('/U,fl
2 © a2 o ® ¢ W

S A Q)

Inertia depends upon

E_ Acceieration ‘// o’ (D) Velocity S «) I"orcc JJ! (B) Mass o 'l» (A) Lt E
" Which of the followmg is a Vector Quantity gy g /‘rJ o'u o cﬂ J:.ww © (4)

Power s (D) Displacement Mo (C) Distance JA@/ Speed K (A)

 Centripetal Force is Directly Proportional to @ : & d ﬁ@*ﬁﬂ u‘L‘g‘f"s J)J’MLSJ-——-“ (5)
2

r D v @ \ U T
ln Gases , heat is mainly transferred .by. : %5 L e V AP 733k /).' (6)
Conduct‘ion g#}f (B)@?«:ular Collision SI){ 4 )zgt (A) ‘ .
i O(‘(mvedim'u u’([ ((‘
A ) c.,{-/b’(’dw o LJJt (7) 
D) ¥°C (@ ¥ @) 15°C (A |
| e st S & c.g}/’k/)' ¢ /., ;ﬁ f“lr" (s)
i In S.I. Unit of Pressure is Pascal which is equal to '
NGP (D) N (Nl B Ne® @)

Radiatiun

Al

“ormal Human body tem

e Sk o P

98.6°C .

Earth's Gravitational Force vanishes at ore 4-(35”'-:’5 Jl”t}" (54.'/ J &f-’l ‘ (9)
nfinity £ &6».40 (D) 1000Km (C) 42300Km (B) 6400Km (A) "

!
1
| l_afént Heat of Fusion is represented by : o 4_3-(, L(/.u, fw/‘fd"d’ Jll‘E (10)
H; (D) Hy (Q Hpy (B) Hv (A)

-

4

"I The least count of Vernier Calliper is , o ebr _r:b’./') b’J...,LJJ_JJJ (11)
tm (@ 1mm (@ 0:0lem (B 0.0lmm () :
An example of Neutral Equilibrium is : o 4_,_}& J ( /d,f U ;‘ (12)
Block St (B) Football Uk (A
| Book on Table .,A'L;):‘ (D)  Pencil at its tip 4.19‘):!‘}'?' (Q)
}
P L i ﬁﬁ?ﬁrﬁﬁ--------_

------------
-------""‘"- R L N e g e, o o 9 0
------------
--------
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48 :/J£1-45.:3: (2020 2022) to (2021 2023) & 3 1158 - 5200 A %

Physics ( Subjective) (Group I' .,,/ )| ssc (Part-1) | ssc-a-2022 | (1) 7.

sl G-J/G-L}:ru.ﬂ’-q_d;ﬂt/ Jevz Lz (5-6)LJrg ek 4 A "3 A2 /J"f'J’L;’ § = 3
. RusP .Q o)) B4 34y Sz St oz A $o (QRI2 vy

Note . It is compulsory to attempt (5~ 5) parts each from Q.No.2, QNo.3 and Q.No4 and attempt any (02)
questions from Part Il Write same Questions Number and its Part No. as given in the question paper.

:}2.__2__’_‘_1_3_} [Make Diagram where necessary. -\ kSIS (Part 1) .J’L"

it Ry
Differentiate between Base Quantmes and Derived Quantities. - 25 5 ln)/ ~ uuumit sty (i) 2,) Jr
What is meant by Prefixes? : ety = #Kux (i)

| Define .Atomic Physics and Geo Physics. ey J S s SALH i)

 What is Brownian Motion ? : ‘ - S te U phga gl (V)
Distinguish between Scalars and Vectors. ’ -c":UI' & 3 #Ew
Define Dynamics. S s S (i)

| State Newton's Third- Law of Motion, Afuk Sra e oy € & (vii)

Write down the relationship between the Force and the Mon{enmlﬁ. 40(3%?‘/: v (yf 2l JII (viii)

. EWrite down the principle of Moments. : & J/i ¥ U () 34 _
:State Newton's Law of Gravitation. ‘t:UQ' oIi ¥ fd{f ¥ o (li) 4
; b b wed § e el € S 1 ,w‘meIGw;JzooN.@J (i) !

A mechanic tightens the nut of a bicycle using a 15 cm long Spanner by exer a force of : E
200 N, find the Torque ; 5 :
Define Satellite.Write down the name of Natural Satellite of Earth. 4}%& ¥ Df’ ,;,,é 74 J LA (iv) :
Define Kinetic Energy. Write down its formula. l@b g § 61’.@6( v) : |
| Define Centre of Mass and Centre of Gravity. YN G /ST v ST (vi) .

:How Solar Panels are formed ? Write down their use%@ !,uwréul \'u?a_w_.bb)(/f/r {vil)

Define Gravitational Field Strength of Earth. -é J}‘ J = J AUJ'“ dl/ d’ o4 (viii)

I Describe Principle of Floatation.. gk ¥ L7 ) a4y
afm '. ‘ ZEEI) kg S A (i) '

!Differgntiaka between Stress and Tensil

 Define Lower and Upper Fixed P i A J"f(},,%, Al (i)
Why does Heat Flows from y to Cold Body? v abﬂd}JKg_ﬁ;‘r’}f ¥ =7 (iv)
b ) | , JJ#J%——AUN-{,E/SOC/J‘CJVV (v)
Convert 50 OC on Celsius Scale into Fahrenheit Temperature Scale, : g
| What is .meant by Convection Current in Air? ‘ ] V{-J'/l-! & ..J/uf{,r It (vi)' |
 What is Transfer of Heat? Define Conduction. = ,2{4}7 Ju‘ﬁ-ﬁ-‘ég = A2JE ‘Vii) »
| Why does Land Breeze blow in the night? . I ‘-?L?"U[:Jﬁ[.ob 64(-) (vill) - »
18=2x9 o ' (Part i) .2 ' ;
“ LS 2SS o (b £ 7 S i 2 ad (D 50

‘Describe Vertical Motion of two bodies attached to the ends of a string that passes over a

Frictionless Pulley. ‘
01~ w-w-'w—u‘)“f Lams? £ mo v *{Jdl-a- ams " Lrdu Jeﬁ.r ()
i - | R AR

A bicycle accelerates at 1 ms'2 from an initial velocity of 4ms_ for 105, Find the dlstance

moved by it during this Interval of time. :
ey ufz i Fa Ss £ e () 6 /J.,'
Determine the Mass of Earth with the help of Newton's Law of Gravxtahon §
_ P LOAL e Gt ¥ 30° S L sl -x 9 § 50N (o)
Find the perpendlcular components of a Force of 50 N makmg an angle of 30° with x =il
4) Explain Thermal Conductivity and derive its formula, -.:‘fyl U661 é\.»l.a J d,r{J‘fJ/ ) 7/0‘
’ e
?b'nl.’i(r)l: ¥ Sadhé SR AT GL/' ()

What would be the volume of Ice formed by freezing 1 litte of water ?
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sxw'sK e 3,;1_0‘151'(1 © 6_?;_19'5 1w 2x1051<1 S

5 Litre is equal o ¢ b4 e 4!4/’ 5

-
-------
-
-

(12)

5x023'(0) 5x102m3 (©) 5xm33us) 5x1033() ,
I O S

-q-.--w’uum-«.q......-p----

A.;_- e e

A -

E, 0 ]  LKNoae  [Paper Code No. 8474 | &
o ) L L i . G PR
Papar - | (Objective Type | 88C-A-2022 | y/ ) ol
Time Allowed @ 15 minutes S8C{ Part-1) K e 18 ..
Maximum Marks © 12 Session (2020 - 2022 ) 10 (2021 - 2023 ) : 2 )
. R - ¢1~21 f
- 4‘;4 LJ'»’/ : b'),)
REL TR AR AT W w.ylm.g'wm:._., VLJWMQ"Q" JELEr0,C, 8, Aapnlip
v - .iw,r,m.,ﬁ‘;ufJL/“/wﬂL/Juulm&}c.-vf .t
Note :*Four pouiblc choices A.B.C.D to nch question are given. Which cholce I8 correct , fill that - clreiw In front of that question
number. Use marker or pen'te fill the circles. Cutfing or filling two o1 more clrcles will resuli In zera mark in thet quuﬂon
The Least Count of Digital Vernier (‘allipcn. is. R 4 ] ,g‘f(/m}f} '/U"’ .
. oA
0- U-l cm (x”)) y () Tem ‘( ) ] mm (B) {) - 01 mm (A) H (1) :
o Wi ¥ O KLU &zr/&/c.u'gb,w, @ |
Newton's First Law of Mohnn is - valid only in the absence of ; E{
Momentum (‘k'r‘ (D) lnrqm J/It () Nel Force JJ!-L;’ (B) Toree u‘:i (A) Lo
4u£. ...... - J,, u‘.fms 1 J'iz Kmh™ § (3) |
{Conversion of 72Kmh™ ! to ms™ ! s equal to e ‘ ' : | i
. i i
_ Coomst o) 25 ms’ 1 ey 20 my” (B) L
Which an ()’l‘ the tollowing uﬁit isnot a Derived Um( - ﬁ *—’! L’U’( G—*tf U’ (4) :
Watt =i () Newlon - gd (() Knlugxam 14 (l!) l’nscal ;f‘b (A) | N
The number of I’up:.nduuhr Components of a l@ c;_J!( JLU’J J!‘;Id»f £ /'f: ‘(5) ]
5 (v 4 By 1 (A) ;
Q f «:Jut-q.zsmm@dr § PG L r'/’)’ 2i © |
The Kinetic Energy of a Body of "M S8 Kg is 25]. Its speed is Lo ;J
50 ms'! (1 ms 1 (@) 12:5ms! (B) sms’! (A) ? ‘
The Orbual Spced of a<Cow-Orbit Satolmc is q_dn J L..fu‘)/‘ b( Dt“" £. ._,-,T Z ) :
8000 ms ! (D) Boo ms ! (O Bmsl B 0 (A) : i o
l“he value of 'g' onthe surface of Sun g 1 ¢ Vo J J g' {f d/lurf ®) xj
8.87 ms’2 (D) 274:2ms’?(Q) 3.7 me’? () 1-62ms? (A) ‘ b
| 4—96”0’( 11‘1' du ‘J’ i L( cﬁ' A.C.L.hg /Jp b’ dk ;‘ 9)
' What should be the approximate length of a Glass ‘fube to construct a Water Barometer i
‘Mim (D) 2.5m (C) Im (B) 0.5m (A)
Thermal Conductmty of Wood in wm 1K1 is P g ‘; Wm lk U'//J/ J d % (10)
0.08 (D) 0.2 (C)-oe'(a)oa(A) ,
..
‘] h
J,,_,;u_,gm/ L S f L S1eg 210K L3Sl ﬁiMdz'x’d)Lc_ufxi e
What will be the value of B for a Solid for ‘which o has a value of 2 x 10° 5]('1 : :

B o B e i



b 'D ¢ 48D o a0m to (001 203) ¥ 16 - Toaoo | P, J,‘(
| 88C (Part - 1) 88C-A-2023 | ( (&) )
muid Jlm s A lf} 'VJ"J'LA’(A
G A8 A g Ql’dlp. M’./v

Q.No.d and gltempt any (02)

Phvsies (‘-mlwwlin;) ( Coroup 1T 717)

Wty gy oy ".& h“ Y "-v;- V‘ Iw[ .‘3‘"" an‘ ',to, (B u,l Jl,’a

- BubGonn,  win it A

Nl L campulsory o attem N aid
PUS = %) paris eoch Brom QN0 2, QNue
qtmnﬂm\a from Part 11, Welte ssme Qllt‘lﬂmw Numbaer -and ls Part No. an uiwn In the qunlhm‘ pnpcr
r.i(*)l-w ) e i s - —— = «', ]
e lSj iMakc l)lngtam whery neceRary. L d,./u\‘v] [ U{'fi |) JL-‘"

. - S o

@y ) S s o uuwd,u (t) 24

- - -
o '-----»---’.-----n--o---

: Define Base Quantities and. Derlved Quatititien,

L What is meant by Scieatific Notatlon ? Glve esample, ”‘Ua‘ Ve "/Ef “— J)"-ﬁf“’u i
{ What is meant by Zevd Breor and Zow Coneetlon? R "/V ..-UA&;,S Jﬂ’ A ’Jf'i (i
: Convert 20 l\\&-‘ into Kbk’ X, . : i3 J‘( o Kmh’ '( 20 ms” l v)
E What s meant by Gravitational Aceelecation ? "/kr de‘MJﬂ; v
: What ismeant by Kest and Maotion ! Give evamples, U"L"“—'"/\'.f oy s V1)
: What is meant by Dynamies ? o Y p'/kr QJ:»UU (vil)

1 Write any ey disadvantages of Friction, “"u uNA“ » e J/ LJ)‘ (vili)

' Differentiate botweon Line of Action of a Force and Moment Arm, & us,J)uk/, L e ._;,).qu-fuw )] S/J""
o 2 Ut EASET G ot e s Z:;JVJK 1fi (n)

-

1
\
. Givir an éx xample of 2 body which is at Rest bul aot In lsqullllnlum.

] v VA e e A by A1 L SE s S J‘/&»:r & Ju’u’f-/" (iil)
)

'

What is  meant by Moment of Foree 2 Also write s it Vector. or @ uantity ?
Write two uses of Adtiticial Sateltites : w'“"" ” L 'J-.WJ"” (lv)

:‘ Ditterentiate between Artitical and N atural Salellites, %} WJ/’ UV (R!"();,J sl S5 (V)

) Define Geostationaty Orbit. o ‘ Oé& 'JJ/J 8 iy (vi)

v , o @ Y . nl 4.’ 9 ﬁ}l(/ <Y nl (VII)

¢ Write down the S.1L Unit of Power and’ also defi uil of Power,

\ Why do we need Encrgy ? @ ’ . ?a_d(u[ el J GAU (viii)

: Why does Atmospheric Pressure vary wi l'.’ . Satbdﬁu{n’bédk" /{J/U‘-’ () 4/Jlr

S S g SR g )
S eraaz i)
Sa.)‘/lf & d/d(m 9 (iv)

wa\ e vy LJ/J;-:,»/ a7 fetr /r/ (v)

What is Vhermometer 7 Why Mercury is preferred as a Thcrmometric Substance ?

]

y Define Strain and Tensile Strain.
i = .

v Define Heat Capacity.
v X - .

y What is, Bimetal Strip?

R I A S - e - - ---. -
—x-,.,--_--:ﬁ_-‘h-:‘-“--—-ﬂ-- - - - - . - -
5 ), ! -

: . Ly "_dﬂdv"l ‘; cwt/ U}" dl; J')‘) J/-” J Jlf u)’( (Vl)

: Why Double V \'alled Class Vessel is used in Thermos Flask ?

: Define Radiation. ‘ _2‘-:._41/7 J ‘f"-'adé, (vii)

L . . .

' Write two uses of Conductor.’ \ . : ! - A g Y] L}‘C’Cf (vili)

[} .

V18 =2x9 (Part Il ) Po

[} L._..:.—-———""—

1@ =1+3 ' e Ll ¥ &I7 e () 540

State Newton's Second Law of Motion and also derwe its equation. :

Kb l*,d‘,,,wé L SE i ¥ /loo-c.dfb;/b“/véw|ﬁo 5ms ‘-JbJ-//t/A.fl ()
(5) w2

A lr.\in starts from rest with an Acceleration of 0+ 5ms , find its speed in Kmh- , when

it has moved through 100 m.

. e » _JJVJLUJG‘JL/&/J PR Z-’J@L/(J' 2 éJ/’J(/‘d;‘(-J') G/JI

1]
1]
1)
1
i
\
¥
]
1
;
)
Ll
: |);tme Equmbnum anc:’liwe its example. Explain first condition of Equilibrium with examples.
: UL’Q 50 n‘s /)(J& - )J?)‘.—ﬂé-lu:w"J J/; .'-c_‘}zfd’{/d».fd’ 200 N JFZJ"JLJ‘r'f)K 20 (w)
_: 5 fﬂ-dfs){fi'ﬁzw!.?@f‘}‘y
: A force of 200N acts on a body of Mass 20 Kg. The force accelerates the body from rest '
: unnl jt attains a velocity of 50 ms Through what distance the force acts 7 _

! Thermal Conductivity, - WP -

' Derive formula for -i ol Uy ¥ (75 i

, ' P bt Nt K D 2 . N LETUF () 74

: ¢ - Wi R 7 IO 18N wis 2 ¥ (Pull (L)

; An object has wenght 18 N in Air. Its weight is found to be 11+4 N when immersed in water

: i

---..-..w-..-..I\._.-..»-_cm--_--

4
‘ (5)

' .--.-.‘L

Calculate its Density. ———— . AeAeDrKn



Physics A L.K.No.13 “ Paper Code No. 5471 ” Y)’

Paper - | (Objective Type ) SSC-A-2021 (Group ! w2/ ) GAsy”) 1 o 5y

Time Allowed : 15 minutes SSC (Part-1) sk B _‘-"”
Maximum Marks : 12 Session (2017 - 2019 ) to (2020 - 2022) 12 AF

-U_')XC—Uj&ﬁtﬁ;’:ﬁh’&WL?b?uu;.u:u:ﬂ)é'é)&lréd’f/;{(éb/dlﬁ-ujéé) D,C,B,AxlzlllJiz 1 g
Kt MRS s S oSS S s msia Ll

Note : Four possible choices A,B,C,D to each question are given. Which choice is correct, fill that circle in front of that question
number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question.
Which one of the following is the smallest quantity : ‘LJ)‘-’;’C-&,—’J'JI’UUIGJL}.";Z'/” 1/&)"’ l
5000 ng (D) 100Hg (C) 0:02mg (B) 0-01g (A) (1)
Change in Position is called : : ‘LJU?( d_’.ﬁ.’ v tﬁ/;' )
Distance Lsé (D) Displacement iadiw wuwd (C) Velocity (s (B) Speed Ly (A)

Which of the following is the unit of Momentum oYK aasec Uit (3)
«1

Kgms > (D) Ns © Ns (B) Nm (A) )
fasS Luis”
wa ga (A)

fruu(f-f[.rb‘fvﬁ%z)% ..JJ"g"/i/J,&b (5)

The tuming effect of a Force is called

Work s (D) Pressure A4 (O Torque St (B) Momen

The value of "g" on Moon's Surface is 1+6ms *. What

surface of the Moon : %5

eight of a 100 Kg body on the :

1600 N (D) 1000 N 160 N 100 N (A) t

H

Rate of Doing Work is called : oV DogrEly vy JL/(K 6)
Momentum ("‘H/ (D r s (C)Torque Lt (B) Emergy (.71 (A)

&
In S.I, the unit of Density ﬁﬁ\) ey raod Ut SLE (7)

Kgm2 (D) Kgm'1 © Kgmz (B) Kgm-3 (a)

In S.I, the unit of Specific Heat is e ¥ )z S (8)

kg 'kl @ lkgx  (© kgl (m) Kg 'K (A)

The number of process of Heat Transferred are PSP § usS L i 9)

4 (Dy 3 (© 2 (B) 1 (A)

How many Divisions are in Vernier Scale of Vernier Callipers : : L ) 'Zf{ J:cﬁu e J/'tg s (10)
50 (D) 40 (© 20 (B) 10 (A)

e S VB o2 st el @J}J{:’ ot f uf ii(11)

A ball is thrown vertically upward. Its velocity at highest point is :

20ms™ ! (D)  10ms 2

(o)) 0 (B -10ms! (A

Py Iaﬁ(gl_f G o e /'a} = Jud'-:!‘é: (12)

The number of Forces that can be added by Head to Tail Rule are

Any Number A D) 4 © 3 B 2 W

< - = =

|
Scanned with CamScanner
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SSC (Part-1) (280 J%

el 3 e e o SIS feltz Lz (8-5)Edvg Ut 4 Adv w13 A« 2 AIrFdne & <\ P
- lny .3{,.31:’ J7 U:/Z‘//) /'})] 2l /:‘U')’ 3] {Q(d’:? —J_/Ly

48 : /J 51455 (2017 -2019) to (2020-2022) F
Physics ( Subjective) (Group I hr’f )

13 - S0

SSC-A-2021

Note : It is compulsory to attempt (5--5) parts each from Q.No.2, QNo.3 and Q.No.4 and attempt any (02)
questions from Part I1. Write same Questions Number and its Part No. as given in the question paper.
30 = 2x15 Make Diagram where necessary. -u lzu"(yndn/"ulfz ( Part |) d”»"

' Find the number of Significant figures in 210<0g.
What is meant by Vernier Constant?

Define Prefixes and give an example also.

How can Vector Quantities be represented graphically?
Define Speed and Velocity.

What is a Vector Quantity ? Give 'its one example,
Differentiate between Action and Reaction.

Why Rolling Friction is less than Sliding Friction?
Define Like and Unlike Parallel Forces.

When a Body is said to be in Equilibrium?

| Define Axis of Rotation.

y What is meant by the Force of Gravitation?

Differentiate between Natural Satellite and Artificial Satellite.

What is meant by Geo - stationary Orbit?
Define Power and write its unit.
How can you find the efficiency of a System?

State Hooke's Law.

2 5 § ussn 1 Ut 210+ 05 () 240w

testpl e SN (i)

Sl o ZE i 5 g )

te (Pl IS5 S usss (iv)

o Sty W)

E LSty U e AsHs (vi)

-’é,gc)k&)ufvig'dl s L (vii)

teBnud feo P P B (il
el B G) 34
tetw U EASE S 2O () :
_Eowf § A i)
el = IS5 (iv)
vl S Gud (V)
etV a2 (vi)
o%ﬁ;}o ¥ U g (i)
N7 St T 68§ 6 i
Yk wl ¥ o () 4Ly !

“ZEed)

Define Density and Elasticity. -éq_!ﬁ d, L?’:)’LU 2l J’éS (ii)
Differentiate between Stress and Strain. @ ..Z;-.‘ébg})' Vs L ui/', (iii)
Define Internal Energy. O\ -Z:h.y/‘.’. J (ﬂ}lu‘}'l (iv)
Define Specific Heat and write its ZE i s 22y § el (v)
Describe two roles of Evaporal our daily life. -’éuk./bﬁ:ufJﬁhfjudm.’:cﬁ/{-gl (vi)
Define Rate of Flow of Heat arid write its equation. -é;fdclub-u(u'l ul"g":_.é!/""JZ,;Jil,(z:aﬂl (vii)

What is meant by Land Breezes and Sea Breezes?

Sl e GAE # G4 (il

18=2x9 (Part IL) fo.e
(4) With the help of Speed Time Graph prove that : fifgca:bc_u J .Jljfl?é;’ (N 540y
L o 19 2
S= Vit +-2—'at

6) S G Punlunt st Sre b3R8 200 N irFE it 80 Kg &5t Sy AL 3ms 2 (L)
A Cyclist of Mass 40 Kg exerts a force of 200 N to move his bicycle with an acceleration of

3ms-2

4)

. How much is the force of Friction between the road and the tyres?
b K e § ST L () 64y

Determine the Mass of Earth with the help of Newton's Law of Gravitation.
gt G e VWIS § 3 m ALl 50 (L)
A body of Mass 50 Kg is raised to a height of 3 m.What is its Potential Energy? _
i (4) What is meant by Young's Modulus ? Derive its equation. Sl e ‘L;I/L_fc,uJ:}bﬁ-(Jl) 74
() ?‘;_muw«?f,(uvé.&igf S §L-e20°C £4 ¥ P d 2+ Sozntiietl (L)

A container has 2+ 5 litres of water at 20°C. How much heat is required to boil the water?

©)

!

:
\
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Physics ll A | L.K.No.14 " Paper Code No. 5472 ” UJJ’
Paper - | (Objective Type) SSC-A-2021 (Group Il s/) GAPY L
Time Allowed : .

1 15 minutes SSC (Part- 1) e 15 1 =
Maximum Marks : 12 Session (2017 - 2019 ) to (2020 - 2022 ) 12 AS

e L'['LJ:U/’”“J"’J.'WL ST N Ju;}héfé:&lzz:dlr//q €312-r L&D, C, B, A LLP.«@"LJ"’/ R
- frur"wvlf ol 9 .—J}‘J s 4/ o1 by 4}(};/11 sl J

Four possible choices A,B,C,D to each question are given. Which choice Is correct , fill that circle in front of that question
number, Use marker or pento fill the circles. Cutting or filling two or more clrcles will result In zero mark in that question.

Note :

Which one of the following is the smallest quantity : § ‘-‘_J,g’c..,«/wo‘u:@_;ﬁdibu 140
.............. 5000 ng (D) 100Wg (C) 2mg (B) 0-.01g (A) 1)
Change in Position is called : : 4.'—(3“?{ b{é"' vy ()
Distance 1§ (D) Displacement iwidowd (C) Velocity (s (B) Speed iy (A)
The formula of Velocity is Do UK S (3)
shet O v=det @ v=2d @ v=1 @

Ol ¥ i EL o phzrdSseddizel (@)

Newton's First Law of Motion is valid only in the absence of :

Momentum diage (D) Friction JQ (C) Net Force e (@?QZ‘S i (A)
The Number of Perpendicular Components of Vector are : dngé,@umﬂ $oses L M’ (5)
(\

4 (D)

Value of " g" increases with the %5 ! Pyl J g"i (6),
Increase in Altitude <224 (st (B) Inc@ Mass of the Body <&y yl¥ (2 (A)

None of these (4 d:(c—u‘ ol <(P2,> crease in Altitude cLﬂﬂ!ﬂ: ©)
Mass of Earth is : : Ul il (7)
6x10%mg M\ ~6x10%¥g (O 6x10%Kkg (B 6x10 %K (&)
N

f VL (U e 2T A (PG L 2 ()

The Kinetic Energy of a Body of Mass 2Kg is 25].Its Speed will be

soms’ (D) 25ms (O 12+5ms’ (B) Smsl (A)
- o
In S.L Unit of Pressure is Pascal which is equal to : ‘a.l'yuug}/’ g..ﬁ s ‘4‘},’&.‘/‘! ¥ /‘.{u.‘.f;lr"
3 =2 2 -2 -2 4 =2

10° Nm (D) 10°Nm = (C) 1Nm = (B) 10 Nm ~ (A)

Gred § e £ig ot s Lo 2x10 K 23 wdl £3ddanid L2 b (10)

-5 -1
What will be the value of B for a Solid for which ©( has value of 2 x 10 K = ?

5 - B~ .5 -1 8,51
8x10°K! ) sx10Bk?! @ 6x10%KT B 2x10%! (4

False Ceiling is done to : R AR (11)
Keep the Roof Clean (il (B) Lower the Height of Ceiling t/f ﬂjl{."l;-"‘f (&Y
Insulate the Ceiling t/2J1 /' =¢ (D) Cool the Room v/t S (0)

Land Breeze and Sea Breeze are the result of : ; UIJ” £/ f"J »l d“f')- (12)

Absorption %7 (D) Convection ¢*% (C) Conduction S (B) Radiation @i, (A)

g e T ﬁﬁ%f{ ________________________________

vl
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. y )" - a4 7
48 1 A8 245, (2017 -2019) to (2020-2022) S= 14 - Searw /'J”
Physics ( Subjective) ( Group II ,'.Af )| SSC (Part-1) | SSC-A-2021 (,::w’)tfc/
e Me Lonoe G Fe AL o (5 -5 Vi et & A 3 A o 2 Awigdie § W »

-l ¢ ggde S2 g s A7 A 6 (3807 g IS

compulsory to attempt (5-—5) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02)
questions from Part II. Write same Questions Number and its Part No. as given in the question paper.

Make Diagram w;'here necessary. ..d_"b.f‘)gxdu/’ul,z (Part |) d’w

Note : It is

r;-x‘

:Define Base Quantities and Derived Quantities. -é-e’/ﬁ § U3ty sl Usiairfole (i) 2y
(- o ) :
:Lh.mge 16 Year Age in Seconds. -’fé-’cj_'i b4 A d Jusr (i)

:Write the name of four Derived Units. -#?‘téu:fﬂ 37\ s (iii)
:Define Acceleration and write its unit. -ad LK s 'é:r-—l‘/? U( et eSSl (iv)

| Define Speed and Velocity. -ZEf 6 by W)

\ Define Distance and Displacement. -2—:4/7 e ewsd 2 ol (vi)

!

| State the Law of Inertia. -2k wIT ¥ B (vii)

| Define Momentum and write its unit. -36 A V] 751—‘?}7 l!r‘-:-‘,)‘ (viii)
:Det'ine Principle of Moments. 2y cht;‘f-ﬁd"){ i) 34
1 - 25

t How Head to Tail Rule helps to find the Resultant of Forces? ?‘LU;AL)J ‘ﬂi_/r:"" Sty € 1A Uik (ii)

{ When does a Body is said to be in Equilibrium? ‘-"Ll'nd’ﬂf-'/'d;‘(;-—_aé[ (iii)

: ey s e e (iv)

i

1 What is meant by a Satellite ? Write the one name of a Natural Satellite. @
E\\'hat is meant by Force of Gravitation? o) -‘L)'/L_f( = w}ﬁdgf (v)
&% 2SI DSIL EiServs” i
@ 1 & GASE i yf § g i
E\\’hat is meant by Efficiency of a System? %5 e bbUo e (B ("’( (viii)
What is meant by Atmospheric Pressure? @ el = Ayt (i) a)y
What is meant by Flastic Limit? @ Sl a 2By (i)
edn a7 § ¢ i
7§ s § i 2 (iv)
ite its equation. & .s«b’w‘,(w 2! 2‘:.,77 J Jj I/ GAZJ:‘? (v)

:On what factors, the Orbital Speed of Satellite depends?
i Define Energy and give two types of Mechanical Energy.

. - .

1 Define Density and write its unit.
1
i Define the terms Heat and Temper

:Deﬁne Specific Heat Capacity

! . s

:“’hat is meant by Evaporation? Y‘L)'/l;(:-cﬂq;{’ (vi)
:\\'hat is meant by Convection Current? ?9Jygc&/ﬂf (vii)
g“’hy does Land Breeze blow in the night? YgC‘%u:.f::’:cC:abdzlff (viii)
i

18= 2x9 ( Part i) poae

r oy

1
:
(#) Describe any four differences between Mass and Weight. ,-’éy)(_,. o/ v ;Jf K is st gL () 5/‘-‘0’:’!
F GugdT o g e S T nd e HALD 2y Ve e toms G0 § Ut £ ) |
(5) _ér,t»— ;
A Car has a velocity of 10 ms. 1. It Accelerates at 0~ 2ms-2 for half minute. Find the Distance 5
travelled during this time and the final velodity of the car. !

(1) S N i uluit S50 (L) 6/1}1;’;
Calculate the Mass of Earth with the help of Law of Gravitation. ;

(5) S S e LUl 15 € 30° ALl x-axis o9 § 50N (L) E
Find the Perpendicular Components of a Force of 50 N making an angle of 30° with x - axis. :

(4) What is Young's Modulus ? Derive its formula. B2 TRIER SN0 SR TOLL N @) 7,_{,"&5
s iy S L0307 2 ot & 1 Lo 4 10°C 7y ecsnr 1102 m’ 4 15°C L bl (L) {

5) e 3-67x10 K T {
A Balloon contains 1+2m° air at 15°C. Find its volume at 40°C. Thermal Coefficient of E

i

i

-3 -1
volume expansion of air is 3+67 x 10 K .

e Y A
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Physics B | L.K.No.19

Paper - | (Objective Type SSC-A-2019
Time Allowed : 16 minutes SSC (Part-1)
Maximum Marks : 12 Session ( 2015 - 2017 ) to (2018 - )

.

U e B SANIISOL e R IEL bmsi L D g2t 63 D,C B, A o i2:F LI
-fn»‘.’Muflgﬁ e Si S Jéfku‘éfu’)buy‘- L

RO

Note : Four possible choices A,B,C,D to each question are given. Which cholce Is correct, fill that circle In front of that question
number. Usa marker or pento fill the circles. Cutting or fliling two or more circles will result In zero mark In that question.

False Ceiling is done to : bt § by st g

14w

6 x 10273 D) 6 x 10“5 © 6 x 10253 (B) 6 x 1024g (A)

Keep the Roof Clean Wil { =4 (B) Lower the height of Ceiling t/FJids J =g (&) | (1)
Insulate the Ceiling /ol f = (D) Cool the Room o ik S (©)
In Solids, Heat is transferred by  : DR B L i (2)
Absorption %zl (D) Convection ¢*% (C) Conduction % (B) Radiation FIgLs (A)
The Crocus Flower opens at  : : 0 Aol ()
2°c (0 2°c (© 2% ® 2% W
Density of Air in Kgm ! is : D el Kgm LEH | (@)
1:3 (D) 1.2 (O 1:1 (B<\1 (A)
_cﬁé, LAk sl fosd o2 2 sl (5)
The work done will be zero when the angle between fee and the Distance is
180° (D) %° (c)/rf&g ) 45° (A
Stretched bow possess energy : > e GAL W dng | 6
Potential J./"J’% (B) Kinetic Energy EAdv (A
u@t\@%@y giesl (D) Nuclear Energy  GA42% (O
e D e G g e s £ 2] ()
The Velocity of a G onary Satellite with respect to Earth is
800Kms © (D) 80Kms ' (C) 8Kms @ (B) Zero > (A)
< FW s § e Jk Il 8)
The number of Forces that can be added by Head to Tail Rule are
Any Number 3¢/ (D) 4 (© 3 (B 2 (A
Inertia depends upon  : 1 gt My eal (9)
Velocity (s (D) Mass 4 (C) Net Force (oieg (B) Force 27 (A)
Spring Balance measures : : q—ffu}%tfd"‘—{l (10)
Speed iz (D) Velocity u“ Us (C) Acceleration (ﬁ)‘q (B) Force \fJ; (A)
Falcon can fly at a speed of Kmh'! : q_§ He O 238 — o | (17)
230 (D 200 (@ 170 (B) 150 (A
Mass of Earth is : Db ¥ o2 (12)

S o OV o S




RS I T A
- \\ b P k L l . | ) \ ’
8 : AF 1455 porsaom o (20m200) F | ks 19 - §Jce> Ay ;
Physics ( Subjective ) -‘*’)v’/ SSC(Part-1) | SSC-A-2019 (,:w'l)ﬂ ‘
2y 1 e Bonoa G Rz i (8-8)Ldirre it 4 A 3 Adr o 2 Adridis & s $
.q.&;:{.;{.élr.fzqf buf.}:zm/tid'r S {L{ﬂlﬁ -g{/d’

Note : It is compulsory to attempt (5-5) parts each from Q.No.2, QNo.3 and Q.Nod and attempt any (02)
questions from PartII. Write same Questions Number and its Part No. as given in the question paper.

| 30 =2 "15| Make Diagram where necessary. -of k'Pndn Ul (Part 1) il
ary 7
o LY S 5y S S kS 20y () 270

What is Vernier Callipers? Write the Least Count of Digital Vernier Callipers.

Write down the name of Four Laboratory Safety Equipments. -u.“{'t& VTP /Y e LS (i)
Write rules to find the significant figures in Measurement. i &L/(:L“ehﬁlufgf (i)

i L oy el Ll Sl sy, W)

Write three equations of Motion for bodies moving under Gravity.

94.)'/&/5_ ﬁdﬁb&’&'f 2l kﬁ?lj\?" )

What is meant by Force of Limiting Friction (Fs) and Coefficient of Friction ?

Write the two advantages and Disadvantages of Friction. et 3 LFF W)
Define Inertia and Momentum. -q/.g;’ J ('Vr 2 l_;/" (vii)
Define Acceleration and Uniform Acceleration. LI Sl g i 5y S (Vi)

Define Torque and write Mathematical Equation. e & 7§ () 340y

Define Head to Tail Rule. ®><i P § Juke

What is meant by the Force of Gravitation? o) ?q_.:l/g c.w}\-‘f-'.d,{/ (iin)
Define Satellites. & - § S @)

State Newton's Law of Gravitation. @Q -q/uw)r ¥ u’-"d{/ ¥ g€ (v)
Define Work and write its formula. %5 -u.“r U 1 st U_{f.y} J s (vi)
Define Potential Energy. @ -.’4:_2} g &}'M (vil)
Define Mechanical Energy a ve, ifs example. -4‘3@)!‘/&}' sl 4&}7 J o G (wviil)
Write four differences beb ’{g Solid and Gas State of Matter. -g" J/ s u:u{ ) u’) =l J b () 4ﬁUlr
v etz ¢ O def Gl of ettty ¥ A ()

Why does a p' stone sink in water but 2 ship with a huge weight floats?
Why Strain has no unit? Give reason. -dfcjbq-bcm’ 2y ¥ g o iD)

Define Latent Heat of Vaporization. -4)}/‘7(; .:u'/d, J ﬁfl/‘;:: (iv)
SpL Sl AN o £ L ot P W)
How do Thermals help birds to fly for hours without lapping their wings?

What is meant by Internal Energy of a Body? Vﬁ—:‘/k(c—&/"t}/'"(;()‘tfr (vi)
Write two consequences of Radiation. -u‘.‘ﬁ_-l}l 7 ﬁa.&ql s, (i)
Why does Land Breeze blow in the night? Yq.‘?gu[.ﬁsﬁ.r—b dx{v (viii)
(Part Il) (o2
@ -QIJN ( § = vit+ %“"2 ) ;abl/d/»&;fric.u J J'ff’tun’lb () sy
Derive 2nd Equation of Motion ( S = vit +—;—It2) with the help of Velocity Time Graph.
(5) tnenl i P tp§ 3ms L LWL RL S0em S L SeE 05 (L)
How much Centripetal Force is needed to make a body of Mass 0+5Kg to move in a circle
of Radius 50 cm with a speed 3ms 1 ? .
(4) Define and Explain Resolution of Forces. -4{;’&: 2 &f g 7J}.J7¢f‘£:zl () 6)r
Fird S0ms™ 1 i e 05 1 ey £ ednid-g G/ SUALS 200N (S eLL (S 20 (D)
) Yo G5 Joo F L8 E U <SS

A Force of 200N acts on a body of mass 20 Kg. The force accelerates the body from Rest
until it attains a velocity of 50 ms~ 1 Through what distance the force acts?

(4) Define and explain Latent Heat of Fusion. et it gSif § carBS 1wk () 74y
(5) -Qf(:‘" L in ;.an;:«./&u‘jg 8m x5m x 4m - 1-3Kgm'3d’¥3 S ()

The Density of Air is 1+3 Kgm™ 3 Find the Mass of Air in a room measuring

Am ¥ 8m v 4m P
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Paper - | ((Objective Type) $SC-A-2019 [New_Pa P-tto GAEP) 1 gq
Time Allowed : 15 minutes SSC (Part-1) Group 2nd w15 =

Maximum Marks : 12 Session ( 2015 - 2017 ) to (2018 - 2020) 12 /J

©®.

-gj_)/;cé&/l‘ﬁ;')j‘-’d&‘é?'ﬁG/J)G‘;U);')E‘:é-)&t/ctj'?ﬁ{‘ér‘}'ﬁ-ﬁéé.! D,C,B,A c:«}b!.’;ﬁk&d'r/: RIS
-fx/ﬁw\('zuﬁ(ﬂ —‘«J}‘JL/“/_"( LUJQJ?').:&)&.—Q
Note : Four possible choices A, B,C,D to each question are given. Which choice is correct, fill that circle in front of that question
number. Use marker or pento fill the circles, Cutting or filling two or more circles will result in zero mark In that question.

A Measuring Cylinder is used to measure : : q.ﬂggr:"’ = u’ﬂ’& lﬁ‘vlr
Level of Liquid J¥ ¢ iy’ (D) Volume (¢ (C) Area L (B) Mass Ut (A) )

e Lalf (e enl Lo LS owFen” | (2)
Name of famous scientist who performed experiments at leaning tower of " Pisa"

Einstein /bo/T (D) Galileo &5 (O Newton o (B) Pascal F

Unit of Momentum is : D oetrey ¥ % (3)
Ns (@ No' (© Kgms? Nm  (A)
One Newton (1N) is unit of Force and is equal to : i&/@q.rxzu-ul ey ¥ i L (@)
1Kgm %2 (D 1Kgm %2 (© o1 (B 1kgms? (A)
Steering Wheel of a Car is the example of 0%\(') D eSS NK| ()
Momentum (% (D) Net@qﬂ:\@wu (O) Couple K (B) Force i (A)

q.dﬂ £ dﬁd}l/&g}ﬂu L gﬁ/‘.u:JC:.-" J (6)
The value of " g" at a hei Qx}’aﬁhs Radius above the surface of the earth is :
le © 358 © 38 ® 28 &

Un g1 dy § 1 7 2l Vs d’u,Jﬁfﬁ 7)

If the Velocity of a body becomes double, then its Kinetic Energy will be :

Become Double (b b5 (B) Remain the Same & Fuet (W)
Become Half | < dfid (D) Become four times o Jist/ 4 (O

Rate of Doing Work is called = : ; gL S LS Jal 8)
Momentum (‘&;, (D) Power i (C) Torque St (B) Energy U/ (A)

At Sea Level, the Atmospherié Pressure is ' gt /‘.'4..&"0’4 £ u.‘ft 9
101,300 Pa (D) 100,600 Pa (C) 100,300 Pa (B) 100,000 Pa (A)

Normal Human Body Temperature is : Y e EZ ¥ A0 e LSt (10)

°F (D 9-6°c (© 3°c B 1B°C W
Metals are good conductors of Heat due to the : ey g P £ A (11)
Big Size of their Molecules  7l% ¥ )'zaﬁcﬂ (B) Free Electron 191 517 (A)

Rapid Vibration of their Atoms 72 2 (4Ll (D) Small Size of their Molecules 784 ¥ ALy (O

Land Breeze blows from : : 4.613 dzﬁ (12)

Sea to Land during the Day IHSP ercnlys (B) Sea to Land during Night A ennlz (A)

Land to Sea during the Day .J)&»ra,f.-:uéw (D) Land to Sea during Night ..s)ij;ﬁ-);t..:.u (©
~~~~~ Fo te W Y ——mmm
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Physics (Subjective) ifws/ ssciygt- 1) | ssc-a2019 | (28) )

ey » e de L Sit/gfeliz L7 (5 - Vot 4 A o3 2w « 2 Ao =l
-ﬁ.b/:{_z{,élf.ﬁ!g{/ Z-,/:/;Z»'/.'U‘r s {Q(Q'IT -J_/J

Note : It is compulsory to attempt (5-—5) parts each from Q.No.2, Q.No.3 and Q.No4 and attempt any (02)
questions from Part [T, Write same Questions Number and its Part No. as given in the question paper.

| 30 = 2"‘15| Make Diagram where necessary. L Pl ol (Part |) o

Define Physics and Mechanics. -4/4} $ olaska o UF (1) 240w
& e € 5SS § ke ()

Define Least Count and write the Least Count of Vernier Callipers.

Differentiate between Plasma and Geo Physics. -@-{;}L‘ J} L Lf/ 2 g (i)
Differentiate between Distance and Displacement. S0/ L didapwd 4l Lo (iv)
Define Translatory Motion and give example. .-J_:.JG' 2! d_/_a_l/‘." g Odiya s sl (V)
What is meant by Banking of Roads? ?q..)l/k( e 3T (vi)
Define Centripetal Acceleration and write its equation. LSt S ) By s s (Vi)
Define Force and its Unit. ey § ey Lyt s uid il

LS8 e 3 U 1 4SSl ht5 Ll () 3

In a Right Angled Triangle, length of Base is 4cm and its perpendicular Is 3 cm. Find<the length of Hypotenuse.
State the Principle of Moments, ..@ﬁ!yd:‘l ¢ Uy (i)
Define Gravitational Field Strength. @g:;_'/.' J =6 ﬂﬁdg}' (iii)
What do you know about Global Positioning System? O{&%va::;@gvn;wgé("’.@m}l (iv)
How the value of " g " varies with Altitude? % S‘q.dmj_’i{ilr&dﬂxcdf(; "g" (V)
Define Watt. How many Watt are in One Horse ?u.?LmAJ:Zw ugwy.g-e;tﬁa} J <y (vi)

-Za s Lfk‘(-{' A ey e U*'Lf' (vii)

What is meant by Efficiency? Write the eq n of Percentage Efficiency.

Write the Mass Energy Equation a 1.9 of Speed of Light. -é.’.ac.z f o) J 6’.:1 J:'a!a:.l:vdildt (viii)

LIS W S SRS w4y
Define Density of a Su and write the value of Density of Gold. i
State Pascal's Law. -4:-1_!.«-)1'0' ¥ gf‘g (if) ;
Define Pressure and write its S.1.Unit. _’4!5.'/2 S.LEUT 2l é,a,f._g/—‘ J A4 (i)

Lo S sf § eir § e oS (W)

Define Specific Heat of a Body and write its Mathematical Equation.

Define Internal Energy of a Body. —4/—.‘.‘}7 g SAJF g K’Uj v)
Define Thermal Conductivity of a Substance. IS A N -5/ ] P (vi) i
What is meant by Convection Currents in Air? &;.:'/l_f; t/‘/;f{/ e bt (vii)
| What is Green House Effect? St wPusper S (vill)
(Part Il) ro2
(4) : -aﬁfm ehd A Tess § SUfeie (N 540w

Derive Third Equation of Motion with the help of Speed Time Graph.
Lbnbeat Pt et Sms W e Soste e pl Unbd K Ve ILALL e /100 (&)
(5) Ny

A stone of Mass 100 g is attached to a string 1 m long. The stone is rotating in a circle

with a speed of Sms L. Find the Tension in the String.

(4) -gﬂ»u,c.dkg.._ﬁ&gﬁ-gf:y} § pu § EASE1(N 6
Define both conditions for equilibrium. Explain each with one example. )
(5) -*4?}-‘ Ry JUte 20ms Y iy § K3 12KNS (&)

A car weighing 12KN has speed of 20ms 1 Find its Kinetic Energy.

” asinfeirf § R o 2§ Wk (W) 740y
Explain Latent Heat of Fusion and Latent Heat of Vaporization.

) -#3em XKUY S L ..((/ld’:ub’u Ji? dyﬂ_{i_lﬂ e JJ) 20,000 N-4-30 cm <15 ¥ c/u'ﬁ‘ﬁ{uﬁuf} ()
The Diameter of the Piston of a Hydraulic Press is 30 cm. How much force is required to
1i6t 2 ear weichineg 20 000N on its piston if the diameter of the Piston is 3 c¢m?
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,.d;gﬂf LI;;I;;-%-Mwyﬂs&u&ui{.mmd‘fxﬂiﬂm-gei{,-u c.\, ﬁ&llﬂjﬁkﬂrﬁ: :
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Hote : F»mpmmmmnscnmmwmmgmwmshﬂuummm gireli infronl of el questsn

- -

nunbyuﬂmmﬂrpmwmvm-cuduhmmurﬂlhgmﬂmwdﬂwlmﬂmmmmminumw i
An Inkerval of 200 !.ﬂ. is eguivalent to . 7: Wﬁfﬁ&ﬁm i_r"'._ﬁlr;
sv1 % (O} z2xwds (O o.es (8) 0. Physics-8 BWP G1-
- y i {P1).bmp

|The maotion of a body about an Axis is called : ﬁ-dj”fruﬂ‘" T)rpe; Bltmﬂp Imag'ﬁ

Rotstory Motien Uy (B) Clrcular Motion oKl Size: 0.9 MB
vl}mdam Matlon e.i‘rr_'e.- tm ﬁﬂm Motion .,.m;,au.fu D,imENSI‘O-n: 2380 x 3
- -;wawafawrﬁmunfﬁi__r._,

| Mewton's First Law of Motion s valid only in the absence of

Sdomenhsim lk;’ 4D| Friction u'{:i tC] Net Fosce @[ Force :.W 1A}

— e el

|
|

|
)
oy i ———- b ) A —

e ———— e

¥Which of the following is the Unsit of Momentum O@ i ga.;#gfr“? e e [4]
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The number of forces  that can be g s by Head o Tail Hule are ﬂ
Any Number oSS (D) 4 (@ 3 (B} 2 (W) g

| ' N
| Earths' Gravitatlonal Farce uﬂ'@cﬂun vamishes al = i n-ﬁkﬂ-.—-‘ﬁuxmﬂfd’gfw I6)
(Km) 4K 1000 (D) (Kan) KA @00 (C) Infinity ¢ Seinai (B) (K HH 600 (a) |]
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The Work Done will be zero, when the angle between the Forcg and the Distance is - ?
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Rate of Doing Work s ealled ; ...ai' i aﬂjd : f&]
- Mnm:nnqri“&ﬁfn} fgrvmr “y 'IC} Torgue -f_l: (B} Energy Eh-i {a) e

| 5.1 Unit of Pressure s Pascal which is equal to: @ gt s ] ofl q.ﬁ.&»,rr ,aq;..ﬁﬁf\"" &
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Which of the Following Material has large specific heat s e Je ¥ JJWH:}MWI it
Mereury Wir (D) Water gy e e (B} Copper F fad |
I Solids, Heat is transferred by ¢ ; Py .;-.JMI r&?w [12}
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Note : It is compulsory to attempt (5-—5) parts each from Q.No.2, Q.No.3 and Q.No4 and attempt any (02)
questions from Part II. Write same Questions Number and its Part No. as given in the question paper.

30 = 2x15 Make Diagram where necessary. -‘[’lzu’ 'Jcnd/:/u((, Ul
Differentiate between Base Quantities and Derived Quantities. -4.(:0);; Uslia3 2 sl Uslidslk (i) ZXJV
Define Atomic Physics and Nuclear Physics. -’4{4/’ S S s SIS i)
How the volume of an Irregular Shaped Solid can be find? S St s ¥ (’v}és,ggf’ (iii)
Differentiate between Rest and Motion. -{-QJ}U—' Jr‘ »l &2 (iv)
Define Random Motion and give two examples. -439‘-’!‘/ 2 1) 4:4]7 J er‘q/ (v)
Define Force. ..%4/." $ s (vi)
State Newton's First Law of Motion. -@{yku)ﬁ'ﬂg ¥ o Lok (vii)
Differentiate between Mass and Weight. S BOAR Wir s U (vill)

e BOAL iMs i W sy () 340r
Differentiate between Like Parallel Forces and Unlike Parallel Forces.
State Principle of Moments. -4{;&“}:‘! ¥ J"‘ ¥ (i)
State Law of Gravitation, @@ -4{'&0]7 ¥ gﬁd{f (iii)
Write down formula and value of Mass of the Earth. OC@.ZG :‘fJJI » U6 ¥ ALk (iv)
What is meant by Communication Satellite? 0%%% el e S i s g3 (V)
Define Work and write its formula. @ -qufﬁb’m » &d}’ § S (vi)
& -gqmc b1 B/ i S (vil)
-g{.;;aj’ § @iy £ ol (viii)

Define Kinetic Energy and write its formula.

Define Unit of Power.

Define Pressure and write its S.L © -e“.vg S.L §U1 ol ;{.y/" § A ) 4 A
State Pascal's Law. v ¢ K
What is meant by Elasti ?q.:l/k( e (5’!‘ k! (iii)
Differentiate between Heat and Temperature. -4(5&&)‘): }ﬁ s Ezz (iV)
Define Latent Heat of Vaporization. -4{4}. J .:uligf g w?-y'b{‘: (v)
Define Thermal Conductivity. -é{_g/" S &2 i)
What is Transfer of Heat? Define Conduction. -&ﬂ‘f“ i ?q.l‘._f .:wlldﬁr" (vil)
What is meant by Green House Effect? | ?q..)l/k(c.‘wpudﬂu_’ S (viil)
(3247 .
@ eoble oSl o Iv ¢ FafL 5 () s Ay
State Law of Conservation of Momentum. Explain it with Balls Example.
©) o P ¢ K Qg 5ms™ Sl 255 g 9SSl 30ms” g ()

Find the Retardation produced when a car moving at a velocity of 30ms” ! slows down

uniformly to 15ms X in 5s.

(4) Explain Fossil Fuels and Nuclear Fuels. _4(.9&:-, S j,é,’f‘ B gl )) 6/.)4.}1)'
5) ‘ -g[)?)k‘ ok UbL.nLgsJﬁ 50 N-4-16 cm @é/ ¥ Lﬁu{ﬁ:’ 'y (fr (-.,a)

The Steering of a Car has a Radius 16 cm. Find the Torque produced by a couple of 50 N,
@) L= Ly (1 +dAT)  yfblbls o oAl dansnepaigs (D 74

Define Linear Thermal Expansion of Solids and derive the equation L = L, (1 +d AT)

©) -t L nige S 20N Yn gig 10 mm A e Vil () E J

The head of a nin is a sauare of side 10 mm. Find the vressure on it due to a Force of 20 N.
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Time Allowed : 15 minutes SSC (Part-1) 18 1 =
Maximum Marks : 12 Session (2015 - 2017 ) to (2017 - 2019) 12 : AF
L e BLIA ISP L 22 WAL s Ll g Q¥ Y27 L2 D, C B A 2l Ly 1 ogd
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Note : Four possible choices A, B,C,D to each question are given. Which choice is correct, fill that circle Infront of that question
number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark In that question.
An Interval of 200 s is equivalent to  : : q-d:l/‘.ﬁ: ¥ 264 200 I/Ulr:
2x10°%s m 2x10%s (@ o0.02s (B 0-2s (A (1)
Gntrdunt ms L g 5.t 2o sexcmnt Al @) |
A train is moving at a speed of 36Kmh™ !.Its speed expressed in ms » is : ’
3ms’? (D) 2ms! (@ 20ms’! (B) 10ms™l (A) 1
NSNS L g bbbz e LAIRFOL) 3) |
A boy jumps out of a moving bus.There is a danger for him to fall |f
Away from the Bus me-J* (B) Towards the Moving Bus u)&/dn&"g (A) i
Opposite to the Direction of Motion Lerdinfa/7 (D) In the Direction of Motion Ledel7 (O ; ‘
& Qene P Pl ve oy %@:,Lfgwﬂ)q/‘,‘;w @) f
Which of the following material has lowest friction when pushed Metal Plates : i
Oil ST (D) Air Ix (C) Fine Marble Powder>{ 3R¥)/t (B) Water  Jy (A 1
VA SETAE F ot e n| 6) |
Two equal but unlike parallel forces having diff ine of action produce i
Neutral Equilibrium (£ )df % (D) Equxgi\bx;\ [ /U'JE I (C) Couple & ® Torque St (A) %
e dngs LRl L pie i g | 6) |
The value of "g" at a heig hs' Radius above the Surface of the Earth is |
ig (O 1/3g © 1/2g (B 2 (A)
The Weight of a body is 147 N, its mass will be fr L1147 N u;,r(-‘.g (7) §E
1.47Kg (D) 0-147Kg (O 14:7Kg (B) 147 Kg (A) %
A S K s SSES S ®)
If the velocity of a body becomes double then its Kinetic Energy will '
Become Double < (x5 (B) ~ Remain the Same &%ty (A)
Become Half .;.J(!u_.-) (D) Become four times q—&b)ﬂfck ©
The number of Perpendicular Components of a Force are : ; .;_[}mw'J u"‘:,,fd»' me/ 9
s @ 3 O 2 ® 1 W
Near the Surface of the Earth, the Gravitational Field Strength is : =36 § W/ wLUSL (10)
gNKg (D) 10NKg! (O 10NKg? (B 8NKg (&
The Energy Stored in water of a Dam is f.aﬂdﬂuh,éjdégﬁﬁ (11)
Electric Energy EAL2) (B) Potential Energy  GASY (A)
Thermal Energy &/ (D) Kinetic Energy BB (O
Sntedg 251 AR LLANY 2| (12)

The Kinetic Energy of a body of Mass 2Kg is 25], its speed is
5()ms':l (D) 25ms'1 (C) 12.5 ms'l (B) 5ms” !  (A)

4 .6 o BwpP-9.2-./8
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-4_.@”{,“40,«,52,_{/ Lzl Ay $s 44(@3 4

Note : It is compulsory to attempt (5—5) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02}
questions from Part II. Write same Questions Number and its Part No. as given in the question paper.

30 = 2x15 Make Diagram where necessary. -u_',bufg}endu/"utfz oo

Define Plasma Physics and Nuclear Physics. IS S w Sy ) 24y
What role S.I. units have played in the development of Science? ?q_k(bbbf Ve u‘?{ S.I.;}:JJJU":V (ii)

What is meant by Significant Figures in a Measurement? ?q.J'/Q"c—urhﬂ'JJjguf (iii)
Differentiate between Positive and Negative Acceleration. \‘4_0/’97; ‘ﬁ)’c'ﬁ}; s gh{ (iv)

Define Velocity and write its unit. B ;.ff..g/" & )

Define Force and write its unit. e #,»U o9 (vi)

Write any two disadvantages of Friction. -g‘Luﬁ » g.J.f[_u’C' (vii)
Define Centripetal Force and write its formula. -e‘{mm’w 2l %Qf J. s S o e (viil)
Define Like Parallel Forces and Un-Like Parallel Forces. -4&'}7 d’ fxuﬁuﬁlc}f sl 7/“510 (i) 3/.Ulr‘
Define Torque and write its equation. -L[);/i'ﬂ"\/ul qf._yj’ J Sk (i)

Define Force of Gravitation. -gu.'/’ J g;!d{/.ﬂuﬁ} (iii) .
What is meant by G?Write its value in S.I. System. -4{!/’:&1&]’ S.1 .\‘q_JI/L/ e G (iv)

Why does the value of " g " vary from place to place? (T (o)

B ol G S EAN (il

What is meant by Efficiency? %5 ?q_:l/k( = u‘k&l (viii)

Define Matter and write name of its three states. @ -é??‘tﬁufbwf&ﬂ al é{lf ot ) a4y
ik o B § 2y )
& 4{4;7 e p (i)

?q.,)l/gc.ﬂ{ 392 a0 ps KrZ (iv)

What is meant by Upper and “Lower Fixed Points of a Thermometer?

Define Heat Capacity. «4:1.77 g W ()

Define Kinetic Energy and write its equation.

Write two disadvantages of Fossil Fuels. g O ..q)}/’..:atlﬁ » Z ARSI (vi)

Define Pressure and write its formula.

Define Strain and write its formula.

Write three ways of Transfer of Heat. -2{0 a—)\j L =78l (vi)
Write two uses of Convection Currents. -zﬂ = 0 L J’f;f‘ff (vii)
Define Radijation. -z{._g} § gL, (viii)
(»,.A? “
(4) Write four differences between Mass and Weight. ..u:‘{)') 1* Lunss gt ()5 Zdlr
Y2 Kmh L il S o § ):‘100..;.&/&;)@:&/&&3)"! £ 0+5ms 2eledeti I Ll ()
®) " fon

A train starts from rest with an Acceleration of 0+ 5ms *.Find its speed in Kmh':l when

it has moved through 100 m.

(4) Explain Solar House Heating System. -’q{wu, e Lyl () 62
5) -g.?#u..m S s gan Ll b o) ¥30° AL 5yl - X oo? S 50N ()
Find the Perpendicular Components of a Force of 50 N making an angle 30° with X - axis
@) -4’1;: V= V,(1+ BAT) .-,uv.z{..y/ J ﬂk.’&vaéb () 740
Define Volume Thermal Expansion. Derive the equation V =V, (1 + BAT )
) -équuu,ul&:_wh! 20 N ¥ f1og-10 mm LIS eV L Sukegtl ()

The head of a pin is a square of side 10 mm. Find the pressure on it due to a force of 20N.
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